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PART - | / 9T - |
GENERAL AWARENESS / 4THTY

1. Students’ Teachers’” Holistic
Advancement through Quality Education

(SARTHAQ) is an

and

(1) Indicative and suggestive NEP
implementation plan for Legal
Education

(2) Indicative and suggestive NEP
implementation plan for Higher
Education

(3) Indicative and suggestive NEP

implementation plan for School

Education

(4) Indicative and suggestive NEP
implementation plan for Technical

Education

2.  Johann Gutenberg developed the first-known
printing press in Germany. Which was the
first book he published in that press ?

(1) The Magna Carta

(2) The Republic
(3) The Bible

(4) The Odyssey
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Which of the following statement(s) is/are
correct about ‘India State of the Forest
Report’ (ISFR) ?

(A) The first State, of the Forest Report was
published in 1937.

(B) The report 1sbaqed on the biennial
assessment of:;'l'ﬁ:dia's forests carried out
by Forest Survev_nf India (FSI).

(C) Based on the I_SER 2021 report the total
forest cover of _tyg country is 21.71% of
the total gegg_'i'éphical area of the
country. o

(D) The ISFR 2021 report shows a decrease
of forest cover as compared to the

e —

previous assessment.

Choose the correct answer using the codes

belD\V . = o=

(1) Only (B), (O) and:(D) are correct
(2) Only (C) and (I_jj_are correct
(3) Only (B) and ()¢

-ﬁre correct
£{ 3 ]
(4) Only (A), (B) and (C) are correct i

Assertion (A) :

Both India and the USA have bicameral

legislature.
Reason (R) : J
The upper house of the legislature in both the |
countries has an equal number of seals
reserved for different states.

Choose the correct a_n_:-l_;i;wer from the codes
below : et

(1) (A) is wrong bu[(R) is correct

(2) Both (A) and E(:__I._'i)_'.:are correct

(3) Neither (A) nor(R) is correct

(4) (A) is correct blg_(R) is wrong

6
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Assertion (A) : l (8 2 _ ;
As part of the major reforms to Union ! i T ﬁagﬁmm?ﬂe‘ a;zqﬂ:ﬁ?ﬁq
| 2020 ¥ s R F W o

Budget, the date of budget was advanced to
1 February for the first time {rom the Budget ’
for Financial year 2020.

Reason (R) :

The advancement of Budget date has been
done to enable early completion of the Budget
cycle.

Choose the correct answer from the codes i
below :

(1) (A) is wrong but (R) is correct

(2) Both (A) and (R) are correct and (R)
explains (A)

(3) Neither (A) nor (R) is correct

(4) (A) is correct but (R) is wrong

Which team won the 2023 Women T20 World
Cup ?

(1) India
(2) Australia
(3) England

(4) South Africa

Who was awarded the Sahitya Akademi
Bhasha Samman 2022 ?

(1) Krishna Bhattacharya

(2) Chungkhan Yashawanta Singh

(3) Shashi Nath

(4) Uday Nath Jha
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"Milpa’, ‘Roca’, “Ladang’ are different names
of which of the following ?

(1)  Shifting cultivation
(2) Open-cast mining
(3) Earthquake waves

(4) Rain water harvesting

What do we call the process through which

bacterial and fungal enzymes degrade

detritus into simpler inorganic substances ?

(1) Leaching
(2) Catabolism
(3) Humification

(4) Fragmentation

According to the National Education Policy
2020, by which year the Gross Enrolment
Ratio in higher Education including

vocational education is to be increased to

50% ?

(1) 2030
(2) 2040
(3) 2035
(4) 2050
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PART - Il /9T - 1l
N : REASONING ABILITY / G &9e1
. 'T\ - 3 % . voe
1+Q" means ‘M’ is the wife of 'Q’; 11. ‘M+Q® a4 2 &M, 'Q F TN T
'h _— " L ’ e
1=Q" means ‘M’ is the father of ‘Q’; ‘M~-Q FI 5 & M, ' F foren 2;
‘M % ¥’ T 3 -~ -
X Q" means ‘M’ is the daughter of ‘Q’; ‘MxQ F a4 & fF M, 'Q A kel 2
M +Q" means ‘M’ is the son Q’, M+Q F a4 & M, Q' FH RES Zl
If A+ : z A
A+BX]+U-D, how is ‘B’ rplated to ‘D’ ? afc A+ BYJ+U D’ﬂT’_ﬁ'_W'_Dﬁ'__ﬂm
A E?
1 A
( ) BI’Other (-I} tﬂg M
(2) Sister \}Z) ?-IEFI.'
U
(3) Aunt (3) i“a"[
(4) Mother (4) @I py—P
A
12. Three statements are given, followed by three | 12. #3 i FoA fag M e ¢ faeep A2 A ﬁEFq !
conclusions numbered I, Il and III. Assuming 3w 111 feg M 2 o fag T FA o Tﬂ
the statements to be true, even if they seem T € @ ° T 6 qedi § fe F A
to be at variance with commonly known g favig s & fa T fepdl 5 ¥ 3‘5‘:[
facts, decide which of the conclusions /& FyAl IS T 3 feed §/3 7
logically follow(s) from the statements.
Statements : HUA :
1.  All pinks are scarlets. _ald 1. W T, @ 0 (Ee) gl
m K
2 Some scarlets are blu N e 2. FHE@ U, G
942 ek
3.  No blue is brown. | 3. s M A U T €
Conclusions : i frreamd
[ Some browns are blues. L FBRAALNA
II.  No pink is brown. I S ot T Sukcd o
IIl. Some scarlets are pinks. 1A = ASISRY (ifea) TemE €1 v
(1) Only conclusions 11 and 11l follow. Al) e fored 11 310 111 Frperd €1
(2) Only conclusion I follows. 2) ad e 1 forferen €1
(3) Only conclusion 111 follows. @) et 11l feper d
(4) Only conclusions I and 11 follow. 4) e frerd 1 3R 1 fred B 1
6 Q2
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13. IfM becomes South-West, then what will
West become ?
(1) North-East N % ‘ Ne
(2) NU!’[I’I—WEE&‘I;_‘; W L
(3) South-East'i 4 s\ s€
(4) East -
9
14. Three statement.;féréz given, followed by four

conclusions numbered 1, 11, III and IV.
Assuming the statements to be true, even if
they seem to be at variance with commonly
known facts, decide which of the conclusions
logically follow(s) from the statements ?

Statements :

All boats arefishes.

1.

2. Some flshe;are rivers.

3. Some rlversare sailors.
Conclusions : +

L. Some sailors are fishes.

II. Some boats are sailors.

[II. Some rivers are boats.

IV. Some fishes_'g_xrg boats.

(1) Only concl‘:'llsti'(;ns IT and I1I follow.
(2) Only conclusmn IV follows.

(3) Only COI’]CIUS‘]OHS I, 11 and IV follow.
(4) Only conCIUSlons I and II follow.

"
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Two stateme
" ements labelled as Assertion (A)and | 15.
cason (R) are given. Consi
_— . 5 . Consider both the
atements carefully,
Asserti ul :
riion (A)g‘-.,1l__.’“i‘“ has the potential to I
_ 'rr__nakc its Handicrafts §
industry a very flourishing
( ._::S_)ector.
Reason (R) : i.fif:"_i.'[ndia is a home to a very
i‘i;ilmge number of craft forms
{__inhcluding textiles.
Select correct answer with the help of code. I
(1) Both (A) and (R) are true but (R) is not
the correct explanation of (A).
(2)  (A) is false but (R) is true.
(3) (A)is true bitt (R) is false.
(4) Both (A) 5.11::1—(11) are true and (R) is the

correct eﬁ_ﬁ!eﬁ‘laﬁon of (A).

Eight friends J; K; L, M, P, Q R and S are
sitting around a‘square table in such a way
that all are faci_ij:g towards the centre of the
table. ‘L’ sits in the middle of the side. ‘P is
second to the left of ‘M’. ‘Q’is exact right of

/K’ and is sitting in the middle of the side. 7
doesn’t sit with ‘L. "M’ sits exact right of ‘J".
Two friends are sitting in between ‘M’ and
‘", ‘R is secofn’d_’fo the left of °J’. 'S is exact |
Jeft of ‘L. ‘K’ is third to the left of 'L,

Who sits fourti]--toff the right of 'K'?

® P : 50
@ R
(@) S
@
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A statement is given followed by four
conclusions numbered 1, 11, 11T and 1V.
Assuming the statement to be true, decide
which of the conclusions is/are definitely
true.

Statement: C = R>D<E=K>P

Conclusions :

L. C>D

. K=D

II. P<E

Iv. E=R

(1) Only conclusions I and III are true.
(2) Only conclusions Il and IV are true.
(3) Only conclusion IV is true.

(4) Only conclusions I and II are true.

A patient has been given a medicine schedule.
There are eight medicine capsules. 5, T,U,V,
W, X, Y and Z. Which have to be taken each
day based on the following conditions :

(i) Capsule ‘S’ must be taken sometimes
before ‘T’ and ‘W’,

“T* must be taken immediately before
O’V!’

Fourth capsule must be ‘'U’,

(i)

(i)
(iv)

Y’ must be taken immediately before
JXJ”

(v) ‘Z mustbe taken immediately after'W’,
(vi) ‘Y’ is the first capsule to be taken.
Which of the following statements is false ?
(1) ‘U’ must be taken between ‘S and ‘T".
(2) The sixth capsule must be ‘V'.

(3) ‘T is taken immediately after ‘S".

(4) ‘X is taken before ‘S'.

.
X o
oA e
+ S0

2.
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19.  Given below is a question, followed by two

statements [ and 11, each containing some
information. Decide which of the statements
is/are sufficient to answer the question.
How is Kushal related to Meenakshi ?

Statements ;

L. Kushal is only son of Meenakshi’s

brother-in-law.,

II.  Garvita is Kushal’s only sister.

(1)  The statement II alone is sufficient to
answer the question while the
statement I alone is not sufficient.

(2) Both statements 1 and 1I together are
necessary to answer the question.

(3) Both the statements I and Il together are
not sufficient to answer the question.
(4) The statement I alone is sufficient to

answer the question while the
statement Il alone is not sufficient.

Clqn s 10 a1 ==
20. Select the letter cluster that will replace the
question mark (?) in the following serie%@
1 1A q¢ o
Ty REF e S L Yy
g3 295 BVU, ZXQ XZM, VBI, TDE, 2
2 iy Ll
\© ¢
5 Q'RE‘AH 299 "
g B "1‘
i
v a0l
(3) FRA a7 L
(4) RAF A A
“ 11 ;
g O .
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e S
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v
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T LR TG 1 T4 Hi |

BVU, ZXQ, XZM, VBI, TDE, __?
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(3) FRA |
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1. Refer to tl ;
2 e following letter sequence and | 21. fireAferfEa STRTTRA 1 STacih i 2 577

answer the question : ESCE L

Left) SB I

é ) .TMRESICZYOWAPDFI—I (HIQ)SBTMRESICZIYOWAPDFH
U L (Right) GUL (3) R

Which letter is fifth to the right of the twelfth fau o spE W ST Td 2R g aEd Al F

letter from your right end of the given et o dfeei 9er SH Wi 87

sequence ?

1 X 1 X

2 P A2) P

(@) W ©)

(4) R 4 R

2 a&ﬂ?'A'ﬁﬂqﬂaaﬂTﬂHm%ﬁr{afmﬁr

2. Lakshmi starts from point ‘A’ and travels
2 km Southwards to a point ‘Z’ and then turns #iR 2 el we ‘7 fag W qg=dl g ar
right and travels twice that distance to reach T SR S € a weel @ =el T
Y’ She then turns left and travels five times il CRUGE | w Y fag W gl EARERED
the distance she covered between point ‘A’ g e Wl S T & a9l ‘A7 ARz g+
and ‘Z’ and reaches point ‘X’. From there <= T W T @ F1 A T g 5 X
P g B 1 e g Al S ¥ 3

she turns left and travels 4 km to reach
destination ‘B’. What is the shortest distance 4 o 1. =Rt ‘B’ A qeR qg ol 1A ER
between the points ‘A’ and ‘B’ and what is ‘B fagadi & = :ﬁﬁq’@ fret & AT A’ R
B’s direction with respect to ‘A" ? B fora femn § 872

(1) 12 km, South

(2) 8 km, North (2 8fwm, SW
3) @) 8f&d, S
(4) @) 12w, ST
11 Qs
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Seven children K, L, P, R, T, X and Y are
sitting on a straight bench facing towards
North. “X’ is sitting immediately left of “Y'.
“T" is the immediate neighbour of ‘R” and ‘P
Neither ‘X’ nor ‘Y’ are the immediate
neighbours of 'L’. ‘P’ is sitting second to the
left of ‘L".

Who is sitting at the second position from the
right end ?

M Ty ok T Pt
(2) K {- ’ } | ——
@) P
4) R

Given below is a question, followed by two
statements I and 1I, each containing some
information. Decide which of the statements

is/are sufficient to answer the question.

Who is to the immediate right of ‘J" among

five friends ], K, L, M and N, facing the

North ?

I. ‘L’ is third to the left of ‘K’ and ‘] is
second to the right of ‘L’.

II. ‘K’ is to the immediate left of ‘N" who is
second to the right of J".

(1) The statement II alone is sufficient to
answer the question while the
statement I alone is not sufficient.

(2) Both statements I and Il together are
necessary to answer the question.

(3)  Either statement I alone or statement I
alone is sufficient to answer the
question.

(4) The statement I alone is sufficient to

answer the question while the
statement II alone is nol sufficient.

12

23.

24,
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Two statements labelled as Assertion (A) and
Reason (R) are given.
statements carefully.

Consider both the

Assertion (A) : Fake news sproad in world

has become a serious

problem.

Reason (R) : The internet is source of all

fake news.

Select correct answer with the help of code.

(1) Both (A) and (R) are true but (R) is not
the correct explanation of (A).

(2) (A) is false but (R) is true.

(3) (A) is true but (R) is false.

(4) Both (A) and (R) are true and (R) is the

correct explanation of (A).

Which of the following Venn diagram
represents the best relationship between

Teachers, Sisters, Females 7

- &7
. ©" .
.1,, N Oo@ ® U
9 W
o (0D
9 v N
{,/-—{*———-*ﬁ——'k‘—’\

(3)

13

25,

26.

GET IT ON
Google Play

1 21 o fou o # S 3 AfaRe (A) ST
ks (R) % w0 & gt T & A F A
q fa=m FIf0 |

aifirre (A):  fava B 72t @ Hed TE
iy T 7 T
@k (R) : mzmﬁaﬁfrm?rma

LN

ﬂ%ﬁquaﬁmﬂnﬁrﬂ?ﬂm
Ead

(1) (A)W(R)mqﬁ : fq (R), (A) FT
a& AT T E 1

(2) (A) e  FRg (R) B 2

& (A) A E R (R) T B

@) (A) @ (R) T T E ST (R), (A) F

ﬁﬁfﬂ@ﬂﬂ'ﬂwm‘ﬂmﬁﬁﬁﬁﬁ?ﬁ
aﬁaqﬁfmwamﬁﬁﬁamw

aqwmaﬁ?ﬂ%am

A
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27.

28.

Three statements are given followed by two
conclusions 1 and 11. Assuming the
statements to be true decide which of the

conclusions is/are definitely true.

Statements :
1. M>Q
2. P=2M
3. N=sM
Conclusions : My
tit
. Q=N '
IE Q<P
(1)  Only conclusion II is true.
(2) Both conclusions I and II are true.
(3)  Neither conclusion I nor II is true.
(4) Only conclusion I is true.

Study the given diagram carefully and
answer the question. The numbers in
different sections indicate the number of

persons.

Salaried

Married

17
Under 35 Years

How many ‘Under 35 years’ people are
‘Salaried’ but not ‘Married” ?

27.

(1 8
@ 12
3) 13 ,
4) 5

14

28.

GET IT ON
Google Play

zﬂqmmﬁqulﬁaﬁaﬁﬁﬁﬁlaﬂtn
fama # | A 1 W91 WA g2 T o wife
o 2l Foreped] # B A 7/ F PR &9 8 v
®/%? '

U

1 M>Q ’ D &
2. Pz=M m S0
s N=M Py !
ﬁ;ra:é AR i
. Q=N2ZX
‘/[1./ Q<P
A v P e §1

@) w1 oI T Te #

(3) qﬁrﬁ@ﬁ(_ﬁ%ﬁméﬁ&&m
(4) Fem fred 15 7

I | fafi= g3 | € W demn Al
w1 e & T S E

3594 ° %A
‘35 7 | ' TR fored safer ¥ it @
& fig e et 2

\/()’)/ 8 :

@) 12
3) 13
@ 5
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29. Sudha is the wife of Anand. Kavita is the
mother of Gaurav. Anu is the daughter of
Ravi, who is the brother of Aryan. Anu’s
mother Kavita is the daughter-in-law of
Anand. How is Sudha related to Aryan ?

(1) Mother
(2) Paternal grandmother
(3) Maternal grandmother

(4) Sister

30. There is a family of six members D, K, L, M,
N and P. They are Lecturer, Artist,
Businessman, Executive, NGO worker and
Singer but not necessarily in the same order.
There are two married couples. ‘N’, a
Lecturer, is married to the Artist who.is the l
mother of ‘L’ and ‘P’. ‘P’ is pursuing singing.
‘D’ has one son and one grandson who is an
Executive. ‘K’, the Businessman, is married
to ‘D’. Of the two married ladies, one is a
NGO worker.

Which of the following statements is true ?
(1) ‘M isthe Executive.
(2) ‘M’ is the Artist.

(3) ‘L’ isson of ‘D’ and K.

(4) ‘K is the wife of ‘'D’.

15
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29. [l 3FE W Tl B e, 1 %1 =/ ¥

a7, o Y A & N T o B o A
Ffaa, aTFe F gAY &) gl F A | @
Hau ¥ 7?7 ’ - -

(y

MR ::
2 <&
A

(4) <=

WMD,K,L,M,NWPWWW
%léa@m,m,?ﬂﬂmﬂ,w,@ﬁﬁr
maﬂtm%ﬁﬁésﬁmﬁ@ﬁm
aTrvas e ¥ <) faarfea g €1 A N
1 T T FHR A ¢ § S L P F
o ¥ P A W UgE Wl D FE
qa 3T T U & S TF gwEs ¥OK T
FrET 3 g faams ‘D’ A @ ¥ 9 fFefed
Tl § Q T TSt e ¢ |

frefefad 3 @ 9 91 F WE ©?
(1) ‘M’ TF TIREH T
) ‘M’ T TR ¥

(@) ‘L’,‘D @K @ A 2

JA’Y K, o F e ¥
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PART - Il / 9T - 11l
KNOWLEDGE OF ICT / ICT &I 511

Which of the foIlmving does not come under
cyber-crime under IT Act 2000 ?

(1)

Distributing child pornography over
internet

)

Misusing personal information over
internet

(3)

Using fake email messages to get
personal information

(4)

Stea]ing monitor from a store

McAfee Plus is an example of :

(1)  Application software
(2)  Open source software
(3) Programming Language
(4) Anti-virus

Out of the following options, the most popular
combination of shortcut keys to Copy Some
selected text in most of the MS windows
applications is :

(1) Cul+O
(2 Cul+P
(3) Ctrl+X
(4)

16

31.

32,

33.

5

o g i 7

32T W AT ATEA Hifew
(pornography) ferafed T

g T SAfeRash ST 1 §5YANT iy

(1)

(2)

SAfeaeh STHHRI W T F fou T
359 (fake email) HES #1 TETT F

fordlt ©WR 4 "R @A

(3)

TFE W (McAfee Plus) frgs = serem
g2
(1) THATHIT HweFaT

software)

(Application

AT 9iE FRII (Open source
software)

T e (Programming Language)

T Ry (Ant-virus)

YR T T g (s windows) TATHIA
¥ 37 OwT T W e
Frfafen faswent 4 9 waifus arefes
WM ' Heew B

(1) Cul+0
(2 Cul+p
(B) Cul+Xx
@ Cul+c
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Which of the follo;\ér‘i_l_\g software you | 34. Afefraa SE fema Tl fam T

34. g
preferrec? most to design an animated wifrg wedfem ey feuza w61 & fau
multimedia presentationon the topic ‘Benefits a1 Frefafaa ¥ 4 % 2 iesen #) g4
of Renewable Energies’i? ! e 47 ?
(1) Microsoft Word (1) TEHER F€ (Microsoft Word)
(2) Microsoft Excel '-_ ‘ (2) TTEERIEIR THFA (Microsoft Excel)
(3) Microsoft PowerPoint @r wARHIgiwe wrEai@EnEe  (Microsoft
PowerPoint)
@) Microsoft Edge 4) HIZHIETR TS (Microsoft Edge)

35. WREAEIR ¥ Wifne el Fes ©iNe wfEd
freafafEa H @ R @ 2

(1) One Drive

35. Which of the fo]lowin_g-‘i]_c_)ud storage service
owned by Microsoft 2 'f.;.,;

(1) One Drive

2) Floppy Drive (2) Floppy Drive
P Py

(3) Google Drive _A3) Google Drive

(4) iCloud 4) iCloud

36. TR SeaTT SISV gHEE (UPS) F1 5§ :

(1) Under-controlled Power Supply

36. The power backup device, UPS, stands for :

1) Under-controlled Power Supply

(2) Uninterruptible Power Supply (2F Uninterruptible Power Supply

(3) Uninterruptible Power System (3) Uninterruptible Power System
(4) Under-control PQW_éf System (4) Under-control Power System

37. Which of the following is not a source of the | 37 frreferfed iﬁi Eﬁg R foeen § A &
virus entering your system ? 3 1 Th :
(1) e feww (Hard Disk)
L (2) TSR (Pen drive) ~
N fiizam@ed (Printouts) -

(4) 37 areeie (Email attachment)

(1) Hard Disk
(2) Pendrive

(3) Printouts

(4) Email attachment

17 Q2
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38. Which of the following is an example of an | 38. ;5
Operating System ? (Operating System? 1 T e € 7
(1) Edge |
|
(2) Word J
(3) Windows
(4) Bing |
39.  Which type of network we create when we | 39. d 89 =2¥ (BIueto\oth? % HT?RIt{ '@T @@ffﬁ[‘a
connect two smartphones to transfer some EEREd f?m?:?r il I?ﬂ II‘l;l-TT R HW T
photos through Bluetooth ? T o Wb o TETH i T § 2
(1) WAN ; H =TT Q? _{T_ﬂ AN)
() PAN { @ Wrweay
(3) LAN @) TiTd (LﬁN)
(4) MAN (4) T (MAN)
40.  Which of the following groups of devices are | 40. fi=fafEg § ¥ Syl = HA @ YR HId
only input devices ? feama (Swron) &2
(1) Mouse, Microphone, Speaker (1) =134, HG%‘T'CF:H THT (Mouse,
[ Mlcrophone ‘Speaker)
(2) Keyboard, Printer, Light Pen J)’)‘ H1-91E, fE[v_r_"{ M (Keyboard,
Printer, nght Pen)
(3) Joystick, Microphone, Scanner 3) TﬂTzfﬁEEF Wl%?fﬁth'ﬁ ﬁn‘?ﬂ: (Joystick,
| Mlcrophone Scwnner)
(4) Mouse, Monitor, Joystick (4) =y, fﬂﬂ'TE‘{ TﬂTZriiezﬁ(Mouse Monitor,
Joystick)
EZE
PGT-HIN-2023 E‘% 18 a2
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Google Play
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PART - IV / 97T - IV
TEACHING APTITUDE / f1e1u1 3iftrgfe

Mohan can now think in terms of
propositions and deal with propositions
instead of objects. He deals with sum total of
possibilities rather than empirical situation.
He takes final steps towards versatility in

thought.

Mohan is at which stage of Piaget’s model ?

(1) Sensory-motor stage

(2) Concrete operations stage

(3) Formal operations stage

(4) Pre-operational stage

Which one of the following is not associated

with a unit test ?

(1) Confined to limited number of
competencies

(2) Totally controlled by the teacher |

(3) Used for Remedial purpose

(4) Standardized Achievement Tests

What is not an advantage of Discovery

method ?

(1) It develops scientific and critical
attitude among students.

(2) It provides training to prepare students
for life.

(3) It develops self confidence and self
reliance.

(4) This method is suitable for the students
of lower classes.

19

41.

42,

43.

Tive ara A 6 Ay H e T # A A
H} e ATl & FIRR H AR ¥l e
it T s 3 i S & Je A
SR Fa ¥ °g famn # v H AT
FHeEn BT 2 |

Hrea, fyam ¥ ufgum & smur w7 e T W
??
9] Thgg-wifa TR A

(2) o SferareTe e
(3) 3TYd HfsharHs e
(4) TE-HfmaTE I
freifra B @ FA T TH IHE TR0 H HaAT
TIE?
(1) zerarsil Y Hifga g& T qA
(2) forerr g1 quia: @
() SYERT HE g TIH
(4) I TG T
et fafy B o1 A1 7l o § 2
MY 3 faurfeat 7 d@fis S
T fvgfa w1 fasr B €
(2) 7g fenfefll w1 sited & forg TR g9
wfereror W e © |
(3) T g STenfavard ST A R
farepTe B T | g
(4) Iz fafu S wesl ¥ fanfiEl & fag
Expiifd v
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44.  Which characteristic does not belong to l 44, mﬁﬁﬁaﬁ?ﬁﬁ'ﬁm?ﬁqﬁﬁmﬁ%?

Adolescence sta ge ? |

(1) Forming groups among members of (1) =W fefm % Sk
same sex

(2) A period of intense emotions (2) = Hal 1 X ’

(3)  Highly critical of social evils and N3) w7 : ¥ i
injustice l RASKESEN

(4)  Pronounced group loyalty (4) 3= WYE Fidas

=R 4 9 S ' afrm ¥ o w5

45.  Which of the following is not an example of | 45.

‘Assessment of Learning’ ? I T & 2

(1)  Assessment of Homework (1) 7eHE F AHe
(2)  Scholarship Examination 2 BEgd Wi

(3)  Anecdotal Records (3) HeE Ao

(4)  Annual Examination (4) =l gga

sferma gisea & ge oiw Tiw S &
9= & ASSURE WiHH ¥ areE & -

(1) foran, SEwat =1 frea, regres ai famm)

46. The ASSURE model of integration of ICT in ! 46.
the learning process has the components :

(1)  Activity, state the objectives, support
and extend.

Ty =1 favawm, @eg fiuiko, fafy
IR rt e 3R geie |

(2) Analyse the content, state the aim, (2)
select method and materials and

evaluate.
(3) sifmewais w1 faverm, weg fiuko,
fafy s wmit 1 == ai faar

(3) Analyse the learners, state the aim,
select the method and materials and

extend.

s e, s o e

(4)  Analyse learners, state the objectives,
select the media and materials and HETH 3R gt %1 T34 3 i |

evaluate.
20 Q2



https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

Adda247

47 which one of the following is not a

48.

49.

50.

characteristic of teacher centred approach ?

(1) Unfamiliar or abstract concepts are
directly explained by the teacher.

(2) Enoughscope for discussion and debate
is available.

(3) Courses prescribed can be completed in
time.

(4) Large sized classes are handled very
well.

Effective teaching, by and large, is a function |

of :

(1) teacher’s scholarship.

(2) teacher’s positive attitude towards
teaching.

(3) teacher’s ability to make students learn.

(4) teacher’s honesty.

What should not be a role of a teacher in the

construction of knowledge by students ?

(1) Supporting cooperative and
collaborative learning in the classroom

(2) Focussing on realistic approaches to
solve real world problems

(3) Discouraging self analysis and self
assessment

(4) Being sensitive to the previous I
experience of each and every student

in the class

If students are not taking interest in their

studies, the teacher should :

(1) tell them that taking interest in their
studies would lead to good result.

(2) file a complaint with the principal and
parents and seek their indulgence.

(3) find out causes for lack of interest and
take corrective measures.

(4) ask them as to why are they not taking

interest in their studies.

21
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47, fours fga sorm A frafafea 3 3 w9 @
Fedrore T 2 2
(1) emafefaa it smd 9era fosrE g
@Y-dY =menfia fey sm
(2) iR AR o B e e A

(@) fafea arewerged 1 wa 9 0 f& =

HqHal |
_\}ﬂ“) T SHR Y FET = JehR AT A
S |

48, TEE: g fae feden g 2

(1) Toeres =1 dife
VQ)’ forerer =1 foneron & wfq dewmoTs AN

(3) ferenfefdi & siferm 4 1= 1 AT
(4) Toeren =t free
40, el gr@n 9m @ A FOH 4 e w5

S H fFee T8l BT AImeT ?

(1) -l & Tedntl TF FeHarg S
EIRERREERTS v

(2) STt fava # guERl F THYE &g
Srefdeh SUNTH 9 FHRIHLT

3 e o T i Felied FTIX

(4) Far % Worw faenedt ¥ q@igva % 9
HagAviea

50. afe fareneff oo verd ® w9 7@ & W T @ e

H

(1) =3 THer wfee fF wel ¥ wm W
7= qftomg wr= 2| -

(2) g ik o R wa-far ¥ Rrera w1
3l St WeTEYn w1 AT W/ A

Mmaﬁqa;@ﬁvﬁ#éﬁéwﬁmﬁww
ST GHRIHE HHRAR Bl v

(4) STy =fee fF @ ver | ¥f9 = 6
AWEI
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PART -V
ENGLISH

51. ‘
Who in The Tempest says, “We are such stuff/
as dreams are made on”?

(1) Prospero
(2) Caliban
(3) Ferdinand

(4)  Ariel

52. Which character is cuckolded in Nathaniel
Hawthrone’s The Scarlet Letter ?

(1) Arthur Dimmesdale
(2) Richard Bellingham
(3) Roger Chillingworth

(4) John Wilson

53. The protagonist of Franz Kafka’s The
Metamorphosis is :

(1) Odradek
) Karl
(3) Joseph
(4) Gregor Samsa

———

22
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54. In the 'Advertisement * to the first eg
The Lyrical Ballads, what did Wordg,, !
suggest readers would struggle with ?

55.

56!

(1
(2)
®)
(4)

Pablo Neruda’s The Book Questions contai

(1)
v
(3)
(4)

Arthur Miller's All My Sons is about :

(1)
(2)

(3)

(4)

feelings of awe and wonder

feelings of estrangement and Pe’Platit],.
i
feelings of beauty and transcendence ‘|

]
feelings of strangeness apg
awkwardness

poems in couplet form.
72
75
74

70

a manufacturer of faulty war materials

a Jewish family’s experiences in South
Chicago

a former Southern judge settled in New'
Orleans ,

a World War II veteran

Q2

Page 21


https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap

oogle Play

7. Which Shakespearean ;fha_l‘oinu says, | 61.  Which of the following symbols signilies

“Husband, | come!"? I peace in Chinua Achebe’s Arrow of God ?
Y
Cleopat
(1) eopatra 00 ) Wik dlay
| (2) Ophelia Lo
s Y (2) Kolanut
LS (3)  Imogen A
(4) Portia L (3) Python

(4) Palm wine

58. Shelley’s Adonais is an elegy on the death of

(1) Coleridge 62. A poem with no meter or rhyme :

(2) John Keats (1) free verse

3) Johnson y
@ I r\"‘-_j! @ (2) narrative
(4) Milton E\“‘:ri
i:..il (3) ode
Lo
: ok Bl of BROHE S 4) lyric
59. Ruskin Bond's A Flight of}f’rg%ans is based 4) lyn
on: A o
-.J!

(1) The Indian Mutiny of 1857
@ S - are a few themes in it. The English teacher
tasks the class to identify words and word
i : chunks related to different themes in the
T R 1 lesson. Then they have to make word charts
I of the same category. This strategy is known

as :

|
II 63. A classhas completed readinga lesson. There
(3) Jallianwala Bagh Massacre of 1919 Il

60. Mulk Raj Anand was a founding member
of : ) '| (1) A writing project

1) Progressive Writers' Asociation
gr :
Y ) (2) Communicative language teaching
q (2) Indian National Asso&gﬂon
(3) Hindustan Repub]ican;;ﬂfs.sociation
LA
(4) The Bombay Presidency Association (4) Thematic language teaching

(3) Word collocation

o . 5

PGT-ENG-2023 m 23 G
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64. Choose the tw

65.

66.

@
PGT-ENG-2023 ﬁ

. O statements that are true of
teaching of grammar,

(A) Teachin,g rules at the initial

stage is not
effective,

(B)  Teaching rules at the formative stage of

leamning is very essential,
(©)  Grammar teaching should move from
meaning to form,

(D)

Grammar teaching should move from
form to meaning,

() () and (B) are both trye
@) (A) and (C) are both true
(3) (A) and (D) are both true
(4) (B)and (D) are both true

In 1968 it was envisaged that
of G.D.P. should be spent on education.

1 4
()
(3)
(4)

%
6
7
5

Comprehensible input is language input that
can be understood by learners despite their
not understanding all the words and
structures in it. This idea was proposed in
1985 by :

(1)
(2)
®)
(4)

Krashen
Chapman
Newfield
Chomsky

67,

68.

69.

GET IT ON
Google Play

A curricular enrichment programpm,
provides a tenchq‘-lpf English and her |g, il
with an opportunity to use their gy, N

languages utherfhﬂ} English in non-lang,,

courses 1s calied.gj- ’

(1) Language%uisiﬁon Culture
(2) Language%uisiﬁon of Content
(3) Language ;dkcross Cultures

(4) Language Across Curriculum

The Right of Children to Free ang
Compulsory Education Act was passed in :

I
(1) 2010 o
)
(2) 2014 ;%
3) 2016
\ N
@ 2000 (N
N

Miss Rita is teaching Change of Speech
(Narration) to her class. She makes A speak
to B and asks C to tell the class what A has
said to B in her own words. Then the teacher
explains the grammar rules. This method of
teaching grammar is called :

)
(2)
@)

Inductive ‘girthod

. i
Direct exgj¥ijing

I
Translatiofyfethod
(4) Deductiv%ﬂwd

N Q2
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72,

present 10+ 2 structure of school

education will be modified as :

(1)
(2)
@)

()

According to Justice ].5. Verma Commission
(2012), a majority of stand-alone T.E.Ls over
in number were selling degrees

5+3+3+4

342+6+4

4+3+345

4+3+4+4

for a price.

(1)

@

(3)

4)

NEP 2020 lays emphasis on ECCE from

7,000

4,000

10,000

5,000

age 3. What does ECCE stand for ?

(1)
(2)
@)
(4)

Early Continuous Child Education
Early Childhood Care Education
Early Child Caring Education

Early Childhood Compulsory
Education

GET IT ON
Google Play

Directions (Q.Nos. 73 to 77) ¢ In each of the
following questions, out of the given alternatives
choose the one which best expresses the meaning

of the given word,

73,

~1
.

)

75.

REQUITE :

1)
2
)

4)

Repay
Favour
Punish

Spare

LEGIT]IVIAIE -

ey
(2)
(3)

(4)

Valid
Tlicit
Correct

Rightful

OBDURATE :

(1)
(2)
@)
(4)

Helpful
Simple
Flexible

Adamant

Mage 24
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76.

Directions (Q.Nos. 78 to 82) : In each of the
following questions, choose one alternative
which is opposite in meaning to the given word.

DROWsY .

(1) Lazy

(2)  Exhausteq
()  Sleepy

4)  Soothing

DEFT :

(1)  Vigorous
(2)  Swift

(3) Deceitful

(4)  Skilful

78. COMMEND :
(1) Condemn
(2) Defy

~—(3) Defame

(4) Commence

afa
DAT.ENCL2N2T =

ke T3

79.

80.

81.

82,

PROVOCATION :

(1) Peaceful
(2)  Pacification

(3) Vocation

~(4) Destruction

EVACUATE :
(1) Emerge
(2) Abandon
(3) Invade

(4) Retain

APPOSITE :
(1) Intemperate
(2)  Inconsistent

(3) Irregular

(4) Inmappropriate

CONCEAL :
(1) Reveal
(2) Open

(3) Discover

(4) Unfold

GET IT ON
Google Play
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Directions (Q:Nos. 83 to 85) : Fill in the blank by | Directions (Q.Nos. 86 and 87) : The following
hoosing the correct/most apgropriate option. sentence have been split into 6 parts. The position
- of 1 and 6 are constant, the other four are
() mentioned as P, Q, R, 8. Arrange these four in a
g
3. _doyou b&ge him to be ? logical order.
CO
[ whe ((le] 86. (1) When I reached my office
(2) How N (P) to get home early
\L I phoned my moth
() Where (Q) I phoned my er
(R) that I wouldn’t be able
(4) Which
(S) totell her
(6) asIhad promised
84. ‘Treasure Island’ is W@ of the best pirate QSR
stories that wever written. @ (2) RPQS
)
(1) were "C:r (3) SQPR
| o0 @) PQRS
@ s N
& N als
hi
Q) S (N 87. (1) Atthe end of the assignment
(4) was (P) the field worker
(Q) submitted his papers
(R) for the work done by him
85. Two-thirds of the city ______in the
ruins. (S) and also bills
() was wrf (6) to the office Superintendent
- (1) QPRS
(2) have been (*(‘) @
(2) QSRP
I
(3) were reduced o0 (3) RSQP
N
(4) were N ] (4) PQSR
SIS
GT-ENG-2023 27 Q2
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88 and 89) : In the following
sentence has been

underlined. Find
in that part. nd out which clause has been used

88.

(1)

89.

Make hay while the sun shines .

(1)  Adjective Clause
(2) Principal Clause
(3) Noun Clause

(#) Adverb Clause

Can you tell me who wrote Shakuntala ?

(1) Adjective Clause
(2) Adverb Clause
(3) Principal Clause
(4) Noun Clause

Directions (Q.Nos. 90 to 92) : In the given
sentences, fill in the blank with the correct

my heart is purg.

o o

(1) where l "

o A

Lo w P
(4) though

92, Virtue ennobles

(1) but
NJ
@ as N
@/ 3

(3) because ()0
(4) since Qj
== »

o

appropriaté option :

,

GET IT ON
Google Play

N
91. My strength is as the strength of ten
g LA -

vice degrad

Directions (Q.Nos. 93 to 97) : In the giv
questions, answer by picking the correct/mt

(1) names of Eie.?)ub}ishers of the work
ND

(2) details of Mﬂd works of the autho

books and-pe‘ﬁodicals consulted

conjuctions.
93. The bibliography gives details of the :

90. They toil not, do they spin.

(1) for

(2) neither @¢)]

(3) list of appendices

(3) as (‘A:*

(4) since ~{4)
PGT-ENG-2023 m 28
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o, In social correspondence, if you do not know
the person to whom you are writing, the
salutation should be :

(1) My dear Mr./Dear Ms. Madam
(2) Respected Sir, Respected Madam

(3) Respected Mr., Respected Mrs.

-

(4) Dear Sir,/Dear Madam

95. A letter of complaint to the editor of a
newspaper shall begin with :

(1) Through the columns of your
newspaper.......

(2) 1am pleased to inform you that.......

W @

(3) Why are the roads in my colony.......

(4) This is to bring to your kind notice.......

96. In a sentence when one subject is singular
and the other is plural, the verb should agree

with the subject :
(1) closertoit

x:

(3) either of the subjects

which comes in the beginning

(4) farther from it

PGT-ENG-2023 Eﬁ

GET IT ON
Google Play

97. In a formal letter if you know the addressee,
the appropriate form will be :

(1) Your's sincerely

(2) yours faithfully

(5. o

el

yours' truly

(4) Yours sincerely

Directions (Q.Nos. 98 to 105) : Fill in the blank
with the correct/most appropriate tense given as
option.

i 98. Three hours will have passed, when the bell

(1) rings

@) (2)

(3) will be rung

will be ringing
(4) will ring

99. Your father for you when you

reach home.
(1) will have been waiting
(2) had been waiting

(3) had waited

S

will be waiting

Q2
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100. 1

the letter be
—— Mohan since Monday. 104 | — — fore e ,,

(1) did not see (1) wrote

(2)  was not seeing (2) have written

(3)  had not been seeing

(3 had written
(4) have not seen

(4) have been written

101. 1 cannot remember where

PENNURO .,
pen. 105. 1 shall certainly work all next weey o,
T ek M when it
@t (1) would rain
é“!} &
o md ' (2) will beraining
(4) Twould have left (b S
(3) will rain
4) is raining
102. fI______ you, I'would not lose temper. @)
(1) were
g | i 106 to 110) : In the following
Directions (Q.Nos.
" sentence, fill in the blank with the correct/most
CD & Wkl appropriate option.
(4) was
106, He . VerY naughty as a child. |
103. 1 reading this book since morning. 3 songhlicid
0 @) (2) would
i (3) must have been
(3) was
(4) could be
(4) had been |
i a0
PGT-ENG-2023
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1081

109.

110.

PaT-EnG 2023 B
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you show me the way to the

station 7
(1) Might
(2) Could
)

(4)

o,
2
Ought

Shall

to respect our elders.
(1)
@
@)
4)

ought
shoud (D
could
must

He is terribly ill. You call the

doctor.
(1)
2)
3)
(4)

must
shall
PRg &
should

Work hard, lest you fail.
(1) can
o))
3)

4)

could

Co

should -

would

31

GET IT ON
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Directions (Q.Nos. 111 to 117) : Read the passage
given below and answer the questions that
follow by choosing the correct/most appropriate
options.

The last one of this long procession of silent
men and women was a little wizened old man. Even
he carried a load of two baskets, slung on a pole on
his shoulder, the same load of a folded quilt, a
cauldron. But there was only one cauldron. In the
other basket it seemed there was but a quilt
extremely ragged and patched, but clean still.
Although the load was light, it was too much for
the old man. It was evident that in usual times he
would l;e_béy_ond the age of work, and was perhaps
unaccustomed to such labour in recent years. His
breath whistled as he staggered along, and he
strained his eyes to watch those who were ahead
of him lest he be left behind, and his old wrinkled
face was set in a sort of gasping agony.

Suddenly he could go no more. He set his
burden down with great gentleness and sank upon
the ground, his head sunk between his knees, his
eyes closed, panting desperately. Starved as he was,
a little blood rose in dark patches on his cheeks. A
ragged vendor selling hot noodles set his stand near,
and shouted his trade cry) and the light from the
stand fell on the old man’s drooping figure. A man
passing by stopped and muttered, looking at him.

I swear I can give no more this day if [ am to
feed my own even nothing but noodles- but here is
this old man. Well, I will give him the bit of silver I
earned today against tomorrow and trust
tomorrow again. If my own old father had been
alive, [ would have given it to him.

Q2
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d the following statements

He fumbled in himself and bmughtoulofhis 112. Rea

and after 8 Statem‘!l‘_i” : The old map

ragged girdle a bit of a silver coin, |
ed to it wizened., Uuked

moment’s hesitation and muttering, he add
a copper penny.

Statement (B) : His face was sh'i"'elled

‘There, old father,” he said with a sort of bitter (1) Statement (A) is true, Statemen,
heartiness, ‘Let me see you eat noodles!’ The old wrong ®),,
man lifted his head slowly. When he saw the silver,
he would not put out his hand. £\ @) Both (A) and (B) are true

L)

He said : ‘Sir, I did not beg of you. Sir, we I U @) Both AR ClR e
have good land and we have never been starving (4) Statement (A) is wrong, Statemep,
thus before, having such good land. But this year is true L
the river rose and men starve even on good land at
such times. Sir, we have no seed left, even. We have
eaten our seed. I told them, we cannot eat the seed.

But they were young and hungry and they ate it { 113, The noodle vendor shouted :

(1) to promote the sale of his noodles,
‘Take it’, said the man, and he dropped the
money into the old man’s smocked apron and went

on his way, sighing.
@,

(2) torequest the passers-by to help the g}
man in distress.

(3) towarn people to run away.

(4) when he looked at the old man.
111. The expression ‘beyond the age of work’
implies :
114. Inspite of the advice of the old man, the youth
% (1) He ought to have retired. - even ate the seed implies the :
’ '

(1) youth cared a fig for his advice,

(2) He was without any work. —
< 2 (2) youth were not far-sighted.
(3) He could hardly work at his age. (3) old man’s ability to prevail upon the
youth.
(4) He looked older than his actual age.
| (4) loss of the chances of the next crop.
2

PGT-ENG-2023 %& 32 Q2
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g5. The passer-by was not able to offer more I Directions (Q.Nos. 118 to 124) : Read the passage

money as charity as he : given below and answer the questions that
foll i i
(1) also wanted Wfend for his own needs. ollow by choosing the correct/most appropriate
- options.
2) ti Kr“t d
was no i
( Gt m;?r?f oclin encouraging One day, when Robinson Crusoe was walking
EEng. T on the beach, he saw a footprint. He could see that

(3) was afraid lest'the noodle seller should | It Was not his footprint as it was too big. He looked

@ complain ag‘ inst him, about him,

. \

‘ (4) himself did {Dunjoy & 86iind Fnancial "Who could have made this footprint ?’ he
position. asked. ‘It was not I. There must be someone here

on my Island. [ will have to look and see who it is.’

Robinson Crusoe looked up and down the
116. Why did the old man feel too much load on | beach to see who had made the footprint. Then he

his shoulder ? saw some men with little boats down by the water.
One man was running away from the others. He
(1)  He was carrying two baskets. ran to Robinson Crusoe and the other men ran after

him.
e (2) He wanted he_ta.ke rest,

= 3 i“.(} oK et i ‘I must help that man,” Robinson Crusoe said
'Ei Wl Siewes n:a.rr% FAre WEnE € | to himself. Robinson Crusoe said to the man, ‘Come
S o) }3:) with me, I will help you!’
() The proogiteNges £ 1ok Then he fired his gun and the other men ran
1;\1“ off. Robinson Crusoe was pleased to have a f1;i__end
L

again. ‘Today is Friday,” he said, "So I will call you
117. What prompted the passer-by to give money Frid:}r. Come on, | will take you to see my house
to the old man ? ' and my island. You can stay here with me as long

as you like.” Friday went home with Robinson
Crusoe. He liked the house and was pleased to stay
there. He helped Robinson Crusoe to milk the goats,
water the corn, and make bread. Robinson Crusoe
was pleased to have a friend to talk to. He talked
. to Friday in English, and soon Friday could speak

(3) He wantedﬂshnw off how large- | English too.

~(1) He was reminded of his own father
when he looked at the aged man.

(2) He indirectly wanted to please the
noodle seller.

hearted he was.
, l One day Friday was on the beach and
(4) He was m‘&ﬁ?ﬂ by the miserable | Robinson Crusoe was working near his house.
condition o&@old man, Friday came running up from the beach.

ggm (]
| m-eua-mzaﬂ N 33 Q2
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tROl‘i“Sﬂn, R(l-l_'\i“sun'l he Cﬂ“‘.’d- ‘Come,

Come. Big, big boat.’

Robinson Crusoe looked out to sea. Yes, there
was a ship coming. Robinson Crusoe ran down {0
the beach, calling and waving as he went. He lit
his fire to signal the ship. The captainsaw the signal
and stopped the ship. He let a boat down into the
water and went to see what Robinson Crusoe
wanted. The captain of the ship was English. He
said he would like to take Robinson Crusoe and
Friday home with him. They thanked the captain
and went to get the things they wanted to take on
the ship with them.

Robinson Crusoe was pleased to be going
home at last, but he was sorry to go away from his
house, his goats, his corn, and the Island that had
been his home for so many years.

118. Why was Robinson Crusoe pleased to have

Friday on his island ?
(1) He was feeling lonely.
oD
(2) He wanted someone to look after his

house and animals.
(3) Both (4) and (1).

He was in dire need of a companion.

(4)

PGT-ENG-2023 m
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What prompted Robinson Crugge to

119. :
Friday back hore with him ? ta,
N
(1) There ?\'g_g none to help Friday . .
iEland:O:}
I .
(2) Robin ‘Crusoe did not wan pl‘ida?

to undergo the torture of 1,:,1.%,!_“!as
(3) Friday also expressed his wﬂﬁng"%h
accompany Robinson Crusoe.

Friday had proved his utility i

4)
Robinson Crusoe.

How was Robinson Crusoe able to draw g,

120. _ ;

attention of oving ship ?

(1) by lighting fire
oo

:} (2) b}; shoighg for hEIp

(3) by calh'ag)him names
I

(4) by wavinga red flag

121. When Robinson Crusoe fired from his gun,it |
meant that : |

(1) he wanted to scare away the boatmen |

@&

NJ
(2) he Warl@the boatmen to go back.
@) Friday?:é now in his custody.

-8
(4) the lifEéfriday was in danger.
—
Q2

s |
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. what convinced Robinson Crusoe about the
presence of another person on the island ?

(1) by sheer instinct
(2) when someone called him
when there was a noise of the birds

3)

(4) the footprints different from his own

1
\D

123. What prompted Robinson Crusoe to name

the person Friday ?
(1) It reminded him of Good Friday.
(2 Itwas Friday when he met him.

(3) He could not think of any other name. l

It was an auspicious day.

@)

124. Why did Robinson Crusoe and Friday thank
the captain of the ship ?

(1) They were feeling forlorn.

@
G
C ) o

)

They had lost all hopes.

They had exhausted their food.

For rescuing them.

PGT-ENG-2023 m
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Directions (Q.Nos. 125 to 130) : Read the passage
given below and answer the questions that
follow by choosing the correcl/most appropriate
option.

HOW DO BEES COMMUNICATE ?

When a worker bee finds flowers with nectar,
how does it tell the other bees what it has found ?
How does it tell them what the flower is, how far
away it is, and in which direction to go ?

The way bees communicate this information
is one of the most amazing wonders of nature. To
begin with, the language of bees is an instinct. It
doesn’t have to be learned. When worker bees
reach a certain age, they know this language

automatically.

The bees’ language is the language of snlel_lsi
and dancing. When a bee has discovered nectar or
pollenha_n-a returns home, it begins to dance. It goes
round and round in narrow circles. The dance
excites other bees and tells them the dancing bee
has discovered nectar or pollen. The other bees can
tell from the smell of the returned bee what it has
found, so they know from this what to look for.

If the bee does a really lively dance, this says
that a great deal of food is obtainable, and more
bees are excited to go out and seek it so far. Then,
the bee has been able to communicate several
things. The dance says that there is nectar or pollen
to be ob__@ifed. The scent on the bee itself tells what
kind of flower should be looked for, and whether
it's for nectar or pollen. The liveliness of the dance
tells about the amount of food.

But all this applies only to flowers within
about a hundred yards from the hive. When a bee
finds flowers with food farther away, it comes home

Q2
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——_a
128. What kind of flowers should pe look
neclar or pnl[en, is made known ¢, ﬂthm fnrl
ep

through : bey,

and performs another kind of dance. This time,
instead of doing a round dance, it does a tail dance.
It does a figure 8, connecting the two loops of the 8
with a straightline, meanwhile moving its abdomen
or ‘tail’ from side to side. (1)
In addition to all of the other information,
the tail dance tells the bees how far to go and in
which direction to fly. The number of turns per =
minute indicates distance. The farther away, thf’ﬁ_.,'“j;? (3) the baskets containing nectar,
fewer the figures 8 made. For instance, 11 turns
per minute means 2,700 metre distance! The line a (4) scent
bee makes between the two loops of the 8 gives the
exact direction of the flowers, It makes this line in
relation to the position of the sun in the sky so the
others can set off at the correct angle instantly!

flashing of the wings.

(2) thesize of the returning bees,

129. The worker bees _______ nectar frg,

125. The number of turns per minute in a tail dance various flowers.
indicates
(1) direction A\ (1) store

4 @ place (8) ’
) i t
(3) time C 2 (2) collec
(4) distance
(3) assimilate

126. The of the returning bees

indicates what they had found. (4) assemble

(1) dance
@ @ s
= 130. The bees communicate with other bees
@ through
127. When a bee comes home and finds a (1) size
particular flower more than a hundred yards
away, the returning bee performs ? (2) instinct
(1) makes a peculiar sound qPZ? %
@ (2) “wGildance (3) movement .
|
(3) a belly dance
(4) a round dance (4) touch
Q2
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PART - VI
GENERAL ENGLISH
131. Choose the option in which the following { 136. Choose the option in which the following
sentence has been changed into passive voice. words/ phrases have been rearranged to form
Hig,attitude vexes.me sometimes, a correct sentence. |
) Tam vexed by his attitude sometimes. (A) people gave ./
(2) Tam vexediat his attitude, (B) President .
(3) Tam sometinies vexed at his attitude. (C) “Him support
(4) Tam vexed by his attitude. (D) him -
= (E) having elected
132. Fillin the blank m”the followmg sentence with (1) (B), (D ( ) ( ). (A)
the help of given ophons (2) (O, (B), (A), (D), (E) »
The train was aboutto leave the station when (3 (E O ) (B). (A), (©)
we there. \}4) ( ) (©), (B), (E), (D)

V{ﬂ would reach
(2) reached Directions for question number 137 and 138 :
Fill in the blanks in the following sentences with the

(3) have reached help of options that follow each of them.

(4) had reached
137. The witness will what I have said.

(1) bear up
(2) bear out

Directions for quesht;n humber 133 to 135 :

Fill in the blank in each of the following sentences with \w bear with
the Telp of given options=— (4) bear on

) | 138. Can you tell me how the accident ?
133. Nitin as well as his-friend Ramesh __ (1) came about
coming to the party (2) came up
(1) are | (3) came by
B wee ON U1 came down
A9 %1ave been- 139. The troops were ordered to mobilise .
(4) is Choose the word which is nearly opposite in
meaning to the underlined word. B
134. Today, the need of common man (1)  dismiss
just bread and butter. (2) convene
(1) are 3T line up
(2) was (4) retreat
(3) were Y
W is 140. He delivered the speech with great aplomb
' Which of the following words can correctly
13 SR i 5 C
> Mrs. Kanwal is "",‘_’ Principal.af this replace the underlined word in the above
school. ot sentence ?
(1) b A1) confidence
\,kf)' (2) apprehension
(3) [ (3) disquiet
@) a i 4) diffidence
156
]
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PART - VI
: GENERAL HINDI
?H@Hﬂ.ﬁma%ﬁﬁﬁ%m: | 145, Frefeafia & el o AT T €
% et nggj T TG IR S (y s
‘ 2)  AMHL
Wsﬁmm-ﬁw%aﬁw‘im @) AL
W o Wﬁm?ﬁwmmmmg] 146, frefefea fasmmef o=-
Tafl =t & T F 7 o e § (1) wd-famre ./
%@?ﬁwﬂqﬁmmww%hﬁ (2 wE-gfs
i R
l -
141. f5g @ W
T HE Ht ST}
(1) Frowems, %aﬁww I 147, Trfafad 3 4 g w9 aren = 7H T
() wEREmE (1) TR
(3) Vi A g (2) TG,
S FaEemE vi? W
142. T wfemeq . E_
A RASU IR G e oo e o 148, Fr=fan ﬁﬁwm@ﬁm%%
(2) & s #5 g s
(3) TS erpyfaai = T a
(4) wfae § sl ) W S
143, FH00 9 11 T ol FTOM BH T Fa &2 149ﬁfﬁﬁﬁw%lwri@%;
(1) = 2J o
) T e e | (q) TS
(3) i | 24; s
(4) a5 <l
144, 'T9E H UF 9R YHvE €9 aen’ ¥ o 190 (iwmgm;%ﬁwmmmﬁ%
IR T ésqi;@_
(1) ifer (2) g =
() e (®) ToEr = gew
(3) iF W e
\M ~00o0-
opAD)
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